Section 13-8:| The Reciprocal Trig Functions

Cotangent:

Secant:

Cosecant:

Use the Unit Circle to find the exact value of each.
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Use your calculator to find the value
of each to the nearest hundredth.

Cos(131°)=-0.66
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Tan -7 =1.34

Csc(-75°)=-1.04
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Use the Unit Circle to find the exact value of each.
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leen that COSX — 11 - Adjacent Leg o

Given that Cotx = —— = 2 = Adeeniles
6 1 Hypotenuse j Opposite Leg
Evaluate the other five trig functions. Rationalize all denominators
Evaluate the other five trig functions. as needed.
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You can now finish Hwk #36 Sec 13-8
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